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(ii) 

(iii) 
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Candidates are required to answer all questions. 

Time : 3 Hours 

�=3� 

Question No. 1 (One) is compulsory and is of objective type. 

Question No. I has 20 (twenty) questions carrying 2 (two) marks each. 

Question No. 2 to 6 are of descriptive nature & answers should not 

exceed 500-600 words. 

Question No. 2 to 6 are of equal value canying 32 (Thirty two) marks 
each. 

�� � � >f�'<TT � � 3m� t I 
>JH M 1 (�)� � "(fci c!tgRtSo >fcfiR cflT �I 
>f�";f M I (�) -ij 20 (im )>f�";f t1 � >f�";f 2 (�) 3fcfi cflT t1 

>JH M 2 � 6 Ric1<011c'J.1cfi � � � 500-600 �� � 3TTqcfi ";f m1 
>f�";f M 2 � 6 � um >J�-;,1 ifi +=rR � i wn � >JH 32 
(G@ffi) 3lq) cfil t I 

1. Compulsory Questions (3fRcll'lf >fH) :
Marks 

3{cf; 

(2x20=40) Choose the correct answer in each of the following objective questions
RAHf&a c!tgRtSo >Jrn -ij ��if;�� cf)]"��

I. A cyclist moves on a circular path of radius IO meters. He completes 2 revolutions in
IO minutes. The average velocity of the cyclist.is
(A) 10 1t

(B-) 4 7t 
(C) 2 1t 

(D) Zero
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II. 

Marks 

� m�fchc1 � IO meters � --.-.-4 .-=i-� 
::mr 

91� <{cilcfil{"Cf�tf{ t 
"'� 

� � � cR"ill ti fll�fcfic1 � cR)- 3ftmr 1Tfu � 
� 1 � 10 minutes it

(A) 101t

(B) 4 1t 

(C) 2 1t

A physical quantity measured in CGS units has a value of 72 dyne cm-1. The value of

the quantity in SI units is 

(A) 720 Nm- 1 

(C) 0-72 Nm- 1 

(B) 72 Nm- 1 

(D) 0-072 Nm- 1 

CGS � ll ml:A "CR � � uftT cfiT l=fR 72 dyne cm-1 1TT<TT 7J<:rT I SI� it

uftr cnT llR t

(A) 720 Nm- 1 

(C) 0-72 Nm- 1 

(B) 72 Nm-1 

(D) 0-072 Nm- 1 

m. If each of the units of mass, length and time is doubled, then the unit of work will be

(A) four times (B) three times

(D) same
(C) doubled

,rt;; �o11�,.,, ""''"* � WFI <lit �'"'*m 1r -it� <!i'r �""WIT= i. m -.>rf

��� 

CCSME23 (20)/40 

Scanned with CamScanner 

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle

Ramesh kumar
Rectangle



(:\) n,m-d11nc11,i11n.tl ·p11,1.1111 

( C) hmc11..,1,,11.1l ·t 11t,t.111t

I A) fcr.r r(' :rT � i f.T 

1C> fo.fp �f\ <Fi 

(UI 1111111n1c u,11:.r.1111 

(!.>) ,1 qu.111111) w1tlto11r d111u-n:.11Hti 

(Bl !T?H1'1•F. fi-'r H ,f.f

1 D) ,f,'. rf'Jr f:r:r-f.r ,fir! •.rcrr ; :.: :

\'. G.:111:-. I ·.11.·J un Y- ·hr i1t11>:-11mr.: arr.: c.tlkd 

I t\ l R.:1.:-. i \ i: l.·lti.11 g ·n ·s 

15=1 C)m;,1.::H�n -U;- gr.:n,:s

!CJ

VI. �!1todvmc.b:i 1, th= ,1urd11m,c llf

I Aj Al I' ( .\ '"mr,111e tnpho..,plt..1lt:) 

(CJ '-tt ... ro•.c 

(B) Auto:-.0111.tl g1.:m:,

( D) l lol.111drit.: gt.:m::.

(B) 

(0) 

(HJ 

(I)) 

�. •f • ft ,r •t mzr·r.if:-:FH ,j -., �11 ,r rr.,ft r. ·( 

(1\J ,\"fl' (r� �Hl 1H �1�•i.i1'i.,n (II) r;:111,1:(1-1

VII. Panc.;rca • �tcrclt fit,r IIHllll". 

( ") glucago11 ;1111! 111�.1ii111 

(C) FSI I a111I c�1rog1:11

(II) 1.111111d 11111i-:c-.,tn1111t"

(J\) fii,'-f,flff;r II_(( Z•'tf.+r 

F.SII P,i:t " /61,1 ... ,, 

(I)) N11t1, 1,f' 1l1t·-.:, 

( 11) 

( I > l 

21 ,p\ ,, 

\l:1rlt...-) 
:� 

P.T.O. 



4 

VIIl. Steroid hormone is 
0£() TI1yroxine 
(C) Epinephrine

(B) 

(D) 

Progesterone 
Prostaglandin 

Rdlls � i 

(A) .q 1$<.lcffilrl

(C) Q,N � fsh-1

(B) 

(D) 

m JI tt d-1 

s:ih-c: 14� u:g') -1 

IX. Krishi Vigyan Kendra is situated at

(A) State level (B) District level

(C)/ Block level (D) Panchayat level

�����"CR� t?

(B) � -ra,::

(D) 9-i'l Ill ct -ra,::

X. Which of the following is a rain water harvesting structure?

(A) Sprinkler (B) Tube-well 

XI. 

(C) Drip (DJ Dobha 

AAfc;-1f@a -it it cnT-f-m, cJm � m� q)l � i?

CA) micfia�;fo�cfircf (B) w-�1�

itm
(C) fyt/c:qqi

(D) 

What is/ are the use(s) of Neem tree?

(A) Timber (B) Medicinal

(C) Fertilizer (Pt All of these

rfm � qif� -3qq1rr � �r�?

(A) � (B) mm�

(C) "G1G (D) �-u�
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Marks 

� 
XTI. In which of the following types of soil, lime is generally added to enhance the agricultural 

productivity? 

(A) Acidic soil

(C) Waterlogged soil 
(B) Saline soil

(I))- Alkaline soil 

3TTtlcfi � '3c<4IG'1 � � 3fllla1<: 1:R, � � "B ��cf;) -mp�� &Tm '5fRTT 
t? 

(A) � -mp

(C) � � cfTBT -mp

(B) i;,icjOLJlj �

(D) � mp

XIII. The Air (Prevention and Control of Pollution) Act was passed by the Govt. of India in
(A) 1881

(C) 1991
@ 1981 

(D) 1988

� (��3ITT�) �, 'llmrW<fiRWfcfiGf1TTmf� Tf<lT

�? 

(A) 1881

(C) 1991

XIV. Ozone hole is present

(A) above Antarctica

(B) above India

(C) above USA

(D) above USSR

(A) �cl4iR.chl t "3itJ"{

(B) m-@ � "3itJ"{

(C) 1to �o t;o t "3itJ"{

(D) 1lo �o �o 3ITTo t �

CCSl\fE23 (20)/40
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xv. Deforestation leads to

(A) soil erosion (B) global warming
(C) soil protection (D) Both (A) and (B)

cfrTT cfiT � � qiRUf mm i 

(A) 12"Gf� (B) �4-isffil! 3i�cfi{OI

(C) 12"Gf m:!ff'OT (D) (A) 3TT\ (B) GfTT

XVI. Energy first enters in an ecosystem through
(A) autotrophs (B) herbivores
(C) carnivores (D) parasites

"Wm� � � it � cnT ��T mm t

(A) �q'pfl it

(C) Aitil�l<i it

XVII. Tuberculosis is caused by

(A) Salmonella

(C) Mycobacterium

<<L<iH¥(ctTRrn � i 

(A) Salmonella it

(C) Mycobacterium it

(B) �llchl�l<.I it

(D) 9<.\JJlcll it

(B) Diplococcus

(D) Streptomycin

(B) Diplococcus it

(D) Streptomycin it

XVIll. Recently ISRO has launched which moon mission? 

(A) Chandrayaan-2 (B) Chandrayaan-3

(C) Chandrayaan-4 (D) None of these

��it ISRO � thTrf-"ffi -cl�lfw-11-1 >I"�� t? 

(A) -cl�ll lri-2

(C) -i:l�lllrl-4

CCSME23 (20)/40
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XIX. INSAT-3DR satellite was launched for 

20 (PVI) 

Marks 
3tcfi 

xx. 

(A) weather forecasting (B) rainfall estimation
(C) disaster warning (D) earthquake forecasting

lNSAT-3DR � qi'f >f� � ��tl "B ml ll1fr t?
(A) lffim '{clfjY 11 (B) cnn �

(C) mcRJ 'tjctlc\11 (D) � '{clljYl1

AIDS is caused by 
(A) RNA vims (B) DNA virus
(C) Plasmodium (D) Mosquito

AIDS���t?

(A) 3ITT:o � o �o cfTWf (B) iro �o �o cffWf

(C) � Ill Y '1 full Y (D) � 

2. What are infrasonic and ultrasonic sounds? Name the sources of infrasonic sound in nature.
Describe the characteristics and applications of ultrasonic sound.

�� � "tRT� t9Fl'<TT <Fll t? � it 3rn� tcrR � mcTT cfiT ,flll fu°& I
\f{T� tqf., c@ fcfN3it � -392.tl•n cfiT qUR cg 1

OR/� 

Under what conditions does a system (a particle) possess potential energy? Explain. How is the 
potential energy of the particle calculated at a given configuration? 

M RcflT!T (cfilll) it m �m11R �fu;,i � � i? ttJ.1$11�1 � � � � 
it cfi1lT � � � � TfURT � � � %?

3. What do you mean by pollution? Give a detailed account of air pollution.
� "B 3rrcl cf<:fT � t? � � ii, � it � � �I

OR/� 

,/What is sex determination? Describe the process of sex determination in animals. 

IBlr frr� M � t? �m it m RtITTUT � � cfiT ffl cg 1 

32 

32 
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4• /What do you mean by crop diversification? Explain its importance for crop production and 
productivity. 

Marks 

3tqi 

"Cfi"ffi1' fcrfcrf'� * 3TTtr � � t? 1:nffi, '3�1�'1 � '3�1�cfidl � � if � 
�cfil��, 

OR/� 

What do you mean by Agroforestry? Describe the importance of Agroforestry and its 
management. 

5. /What is global energy crisis? Give a detailed account of alternative sources of energy.

�cfcfl � tfcfi?: � i? �- � �cfifc.qcfi ma) cfiT � fcrcRur � I

OR/� 

What do you mean by ecological pyramids? Explain their types. 

� fq{IM-s * 3TTtr � � t? � � cfiT � �I 

6. What are satellites? Describe the applications of different types of satellites used for different
purposes.
� � �? -fm:r--fm:r ��-m if1 �. o4tj�d fcrfm:r � ifl � cfil cfUR �I

OR/3{?.rcrr 

32 

32 

32 

/What is meant by conventional and non-conventional sources of energy? Describe them with

their relative merits and demerits. 

91(P-!f{cfi � itt-91{P-lf{cfi �--mol � 3TTll W � �? � "BM� "T1T-� 

cfiT cfUR �I 

*** 
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